For Discount White Outdoor Parts Call 606-678-9623 or 606-561-4983

118-109F190 Lawn Boss 21 (1988) Page 1 of 2
21" Rotary Mower
712-0123
Hex Nut——e, _
5/16-24 Thd. 742-0307

}///’21” Blade
o

Blade Adapter Kit

753-0348 736-0217
Lock Washer
738-0119 3/8" 1.D.
Lock Washer
5/16" 1.D.
710-0331
710-0888 Hex Boit

Hex Bolt 3/8-24 x 24" Lg.
5/16-18 x 1" Lg.

WWW.mymowerparts.com



For Discount White Outdoor Parts Call 606-678-9623 or 606-561-4983

118-109F190 Lawn Boss 21 (1988)

21" Rotary Mower

Ref #
712-0123
742-0307
753-0348
736-0119
710-0888
710-0331
736-0217

Part Number

712-0123
742-0307
753-0348
736-0119
710-0888
710-0331
736-0217

Page 2 of 2

Qty S/P/F  Description
1 /P Hex Nut 5/16-24 Thd.
1 S 21" Blade
1 Blade Adapter Kit
1 S  Lock Washer 5/16" I.D.
1 /P Hex Bolt5/16-18 x 1" Lg.
1 /P Hex Bolt 3/8-24 x 2-1/4" Lg.
1 S  Lock Washer 3/8" I.D.

WWW.mymowerparts.com



